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& AT52 aJ 5DE-2 200 3.0 1 ||s AJ94 s Q2 4HE4 620 -120 2
v KQ3 v T52 5DE-1 100 1.0 2 ||v AQ75 + v K9642
* A2 + QJT8543 3DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE3 110 50 1 ||a6 & AJ3
®IVON LK 2DW4 130 <50 1 PEVEN ,873
N ~~~1~ ¢J97 3SN-4 200 70 1||N 3 ~~~~ T
S ~~~21 ¢+K997 5DE5 600 -12.0 1 ||S 3 ~ ~ ~ ~ ¢ AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 4SS-2 -200 Mean: 3NS5 660 9.0 1 |[|#6 » A87 4SS5 450 Mean: 4SN7 510 30 1
v 82 3NS3 600 270 5CN6 620 8.0 1 v J2 4SN5 450 400 4SS5 450 2.0 2
¢ 53 Dif: -800 NS:-10 3NS4 630 8.0 1 + AQJT6 Dif: 0 NS:2 4SN5 450 2.0 5
» AQJ96542 IMP: -13 EW:-8 3NS3 600 80 3 » KJ2 IMP: 0 EW:-2 4SS4 420 1.0 4
» Q94 # 7632 3HE-4 200 -20 1 ||a 532 s Q 4SN4 420 1.0 1
v J753 v AT94 3HE-3 150 3.0 1 ||e AQT —_ v K874 4HS-1 -50  -10.0 1
+ AK84 ¢ J76 3CN4 130 40 1 + K93 ¢ 8754
& K8 & 73 3CN3 110 4.0 1 ||as 9543 & QT86
PIVEN ,AJT8S 5CN-1 100 -90 3 POIVEN 4, KJIT964
N 42 ~24 ¢KQ6 48S-2 -200 -10.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 3CW3 -110 Mean: 3NE-6 600 110 1 ||#38 a T2 3NN3 400 Mean: 3NN3 400 7.0 1
v KT6532 5CW-1100 20 1NW-3 300 70 1 v JT954 1SS3 140 120 2SS3 140 1.0 2
* J6 Dif: -210 NS:-4 5CW-2 200 50 1 + AQ9 Dif: 260 NS:7 2HS3 140 10 1
aT8 IMP: -5 EW:-2 3NW-2 200 50 1 » 962 IMP: 6 EW:-1 1SS3 140 10 3
s QT7 & AK94 5CW-1 100 20 1 (|aJ94 s 875 2852 110 00 2
v QJ + v7 4SW-1 100 20 1 ||v K863 v A7 2NN2 120 00 2
¢ T95 + K732 4SE-1 00 20 1 (|eJ5 * 8732 3CE-2 100 1.0 1
& AKQ42 S & 7653 3CW3 110 -40 5 ||a JT87 & AK53 1NE-1 50 20 1
PIVEN ,J52 2SE3 140  -40 1 ®¢VE®N 4, AKQ63 48S-1 50 5.0 1
N ~~2~~ ¢A9%4 3NE4 630 120 1 ||N ~3221 ¢ Q2
S ~~2~~ 4AQ84 S ~3221 ¢ KT64
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 3NS-1-50 Mean: 3NS6 490 3.0 4 ||#10 » T9876 4HW-1 100 Mean: 3NE-3 300 9.0 1
v 93 3NS5460 380 3NS5 460 20 5 v KQT2 4HW-1100 -90  4SE-2 200 7.0 1
« QT9862 Dif: -510 NS:-10 3NS4 430 20 1 * T2 Dif: 0 NS:5 4HW-2 200 7.0 1
aA IMP: -11 EW:-2 3NS3 400 10 2 » Q8 IMP: 0 EW:-5 4HE-2 200 7.0 1
# 96543 a2 5DN-1 50 100 1 || J532 » AQ4 4HW-1 100 50 4
v Q4 v KJT72 3NS-1 50 100 1 |]|e 987653 + v AJ 4HE-1 100 50 3
+ AJ3 75 *J + AK985 4HW4 620 -11.0 1
& Q96 & T8742 & 74 & AT6 4HES5 650 -11.0 1
®IVEeN LAQ7 PIVEN LK 4SXN-6  -1700 -17.0 1
N ~5~45 ¢ A865 N ~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 & KJ9532
W ~~~~~ W~~532




X AN 33z ‘; R
5 114# £< 3 > FpERE £ ==>Rb 5
i
#1: 9 BHE(78.2) #2: 3 ILRERI(65. 74) #3 2 S5 (60.69)
6 NS: Hi&fE 5eFEE0) 17 14 NS: Z121F $25/R(BAC) -8 16.59 : 3.41 Total VP: 59.48 Rank:
EW: S BEEREEAC) 8 EW: B3k = JIXA(FHO) -1 IMP:| 34 11 4
- . S
#1 & J75 3NE3 -400 Mean: 2HE3 140 40 2 ||# 2 » Q832 4SS4 620 Mean: 4SS4 620 0.0 12
v 876 2HE3 -140 -270  1NE2 120 40 1 v 98 4SS4 620 610  4SN4 620 0.0 1
+ Q85 Dif: -260 NS:-4 1HE3 140 40 1 + KQ9 Dif: 0 NS:0 4HXW-3 500 -3.0 1
& QJ43 IMP: -6 EW:-4 1HE2 110 40 1 & Q943 IMP: 0 EW:0
» QT93 s AK4 2NE4 180 3.0 1 KT a 764
v KT4 v QJ52 1HE4 -170 3.0 1 v QT742 I v KJ53
+ AT6 ¢ J973 3NW3 400 -40 2 ||e 876 * T542
& K9 & T5 3NE4 430 -4.0 1 ||a AT7 & 52
®IVEON 4,862 3NE3 -400 -40 4 PIVEN , AJS
N ~~~~~ 9A93 N 4~~32 ¢A6
S ~~~~~ ¢Ka2 S 4~~32 ¢AJ3
E ~4443 aA872 E ~~~~~ &KJ86
W ~4443 W ~~~~~
#3 » Q8743 5DE-1100 Mean: 3NW-4 400 80 3 ||#4 » KT65 4HE-1 100 Mean: 4HE-2 200 50 1
v A864 2NW-3 300 80 2NW-3 300 6.0 1 v J83 4HE-1100 o© 4SE-1 100 30 1
¢6 Dif: -200 NS:1  6DE-2 200 3.0 1 T Dif: 0 NS:3 4HW-1 100 30 1
» 865 IMP: -5 EW:-6 5DXE-1 200 3.0 1 » KQ852 IMP: 0 EW:-3 4HE-1 100 30 9
& AT52 aJ 5DE-2 200 3.0 1 ||s AJ94 s Q2 4HE4 620 -120 2
v KQ3 v T52 5DE-1 100 1.0 2 ||v AQ75 + v K9642
* A2 + QJT8543 3DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE3 110 50 1 ||a6 & AJ3
®IVON LK 2DW4 130 <50 1 PEVEN ,873
N ~~~1~ ¢J97 3SN-4 200 70 1||N 3 ~~~~ T
S ~~~21 K97 5DE5 600 -12.0 1 ||S 3 ~ ~ ~ ~ ¢ AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 3CN4 130 Mean: 3NS5 660 9.0 1 |[|#6 » A87 4SN5 450 Mean: 4SN7 510 30 1
v 82 5CN-1-100 270 5CN6 620 80 1 v J2 4SN5 450 400 4SS5 450 2.0 2
¢ 53 Dif: 230 NS:-4 3NS4 630 8.0 1 + AQJT6 Dif: 0 NS:2 4SN5 450 2.0 5
» AQJ96542 IMP: 6 EW:9 3NS3 600 80 3 » KJ2 IMP: 0 EW:-2 4SS4 420 1.0 4
» Q94 # 7632 3HE-4 200 -20 1 ||a 532 s Q 4SN4 420 1.0 1
v J753 v AT94 3HE-3 150 3.0 1 ||e AQT —_ v K874 4HS-1 -50  -10.0 1
+ AK84 ¢ J76 3CN4 130 40 1 + K93 ¢ 8754
& K8 & 73 3CN3 110 4.0 1 ||as 9543 & QT86
PIVEN ,AJT8S 5CN-1 100 -90 3 POIVEN 4, KJIT964
N 42 ~24 ¢KQ6 48S-2 -200 -10.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 3NE-6 600 Mean: 3NE-6 600 110 1 ||#38 a T2 2NN2 120 Mean: 3NN3 400 7.0 1
v KT6532 3CW3-110 20 1NW-3 300 70 1 v JT954 4SS-1-50 120 2SS3 140 1.0 2
* J6 Dif: 710 NS:11  5CW-2 200 50 1 + AQ9 Dif: 170 NS:0 2HS3 140 10 1
aT8 IMP: 12 EW:4 3NW-2 200 50 1 » 962 IMP: 5 EW:5 1SS3 140 10 3
s QT7 & AK94 5CW-1 100 20 1 (|aJ94 s 875 2852 110 00 2
v QJ + v7 4SW-1 100 20 1 ||v K863 v A7 2NN2 120 00 2
¢ T95 + K732 4SE-1 00 20 1 (|eJ5 * 8732 3CE-2 100 1.0 1
& AKQ42 S & 7653 3CW3 110 -40 5 ||a JT87 & AK53 1NE-1 50 20 1
PIVEN ,J52 2SE3 140  -40 1 ®¢VE®N 4, AKQ63 48S-1 50 5.0 1
N ~~2~~ ¢A9%4 3NE4 630 120 1 ||N ~3221 ¢ Q2
S ~~2~~ 4AQ84 S ~3221 ¢ KT64
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 3NS6 490 Mean: 3NS6 490 3.0 4 ||#10 » T9876 4HW-1 100 Mean: 3NE-3 300 9.0 1
v 93 5DN-1-50 380 3NS5 460 20 5 v KQT2 4HE-1100 -90  4SE-2 200 7.0 1
+ QT9862 Dif: 540 NS:3 3NS4 430 20 1 * T2 Dif: 0 NS:5 4HW-2 200 7.0 1
aA IMP: 11 EW:10 3NS3 400 10 2 » Q8 IMP: 0 EW:-5 4HE-2 200 7.0 1
# 96543 a2 5DN-1 50 100 1 || J532 » AQ4 4HW-1 100 50 4
v Q4 v KJT72 3NS-1 50 100 1 |]|e 987653 + v AJ 4HE-1 100 50 3
+ AJ3 75 *J + AK985 4HW4 620 -11.0 1
& Q96 & T8742 & 74 & AT6 4HES5 650 -11.0 1
®IVEeN LAQ7 PIVEN LK 4SXN-6  -1700 -17.0 1
N ~5~45 ¢ A865 N ~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 & KJ9532
W ~~~~~ W~~532




X AN 33z ‘; R
5 1145 ¥ =% 3 > Wi & 5 p £ ==>Rb 5
#1: 9 TEHL(78.2) #2: 3 jt%%&ﬁ—;(ﬁ 74) #3: 2 1% 4m(60.69)
7 NS: ZlffZE Radihike RYRN(GE 12 NS: iS5 RE<F(BAC) -49 P:| 18.00 : 2.00 Total VP: 57.17 Rank:
EW: Alan SIA Diana SUN(Ef C), EW: 8} {2 ME#E(F0) 12 IMP:| 44 13 5
- . S
#1 & J75 3NE3 -400 Mean: 2HE3 140 40 2 ||# 2 » Q832 4SS4 620 Mean: 4SS4 620 0.0 12
v 876 3NE3 -400 -270 1NE2 120 40 1 v 98 4SS4 620 610  4SN4 620 0.0 1
+ Q85 Dif: 0 NS:-4 1HE3 140 40 1 + KQ9 Dif: 0 NS:0 4HXW-3 500 -3.0 1
& QJ43 IMP: 0 EW:4 1HE2 110 40 1 & Q943 IMP: 0 EW:0
» QT93 s AK4 2NE4 180 3.0 1 KT a 764
v KT4 v QJ52 1HE4 -170 3.0 1 v QT742 I v KJ53
+ AT6 ¢ J973 3NW3 400 -40 2 ||e 876 * T542
& K9 & T5 3NE4 430 -4.0 1 ||a AT7 & 52
®IVEON 4,862 3NE3 -400 -40 4 PIVEN , AJS
N ~~~~~ 9A93 N 4~~32 ¢A6
S ~~~~~ ¢Ka2 S 4~~32 ¢AJ3
E ~4443 »A872 E ~~~~~ &KJB6
W ~4443 W ~~~~~
#3 » Q8743 5DE5 -600 Mean: 3NW-4 400 80 3 ||#4 » KT65 4HE-1 100 Mean: 4HE-2 200 50 1
v A864 3DE4-130 80 2NW-3 300 6.0 1 v J83 4HE4 -620 © 4SE-1 100 30 1
¢6 Dif: -470 NS:-12 6DE-2 200 3.0 1 T Dif: 720 NS:3  4HW-1 100 30 1
» 865 IMP: -10 EW:5 5DXE-1 200 3.0 1 » KQ852 IMP: 12 EW:12 4HE-1 00 30 9
& AT52 aJ 5DE-2 200 3.0 1 ||s AJ94 s Q2 4HE4 620 -120 2
v KQ3 v T52 5DE-1 100 1.0 2 ||v AQ75 + v K9642
* A2 + QJT8543 3DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE3 110 50 1 ||a6 & AJ3
®IVON LK 2DW4 130 <50 1 PEVEN ,873
N ~~~1~ ¢J97 3SN-4 200 70 1||N 3 ~~~~ T
S ~~~21 K97 5DE5 600 -12.0 1 ||S 3 ~ ~ ~ ~ ¢ AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 5CN6 620 Mean: 3NS5 660 9.0 1 |[|#6 » A87 4SS4 420 Mean: 4SN7 510 30 1
v 82 3NS4 630 270 5CN6 620 80 1 v J2 4HS-1-50 400 4SS5 450 2.0 2
¢ 53 Dif: -10 NS:8 3NS4 630 8.0 1 + AQJT6 Dif: 470 NS:1  4SN5 450 20 5
» AQJ96542 IMP: 0 EW:-8 3NS3 600 80 3 » KJ2 IMP: 10 EW:10 4SS4 420 1.0 4
» Q94 # 7632 3HE-4 200 -20 1 ||a 532 s Q 4SN4 420 1.0 1
v J753 v AT94 3HE-3 150 3.0 1 ||e AQT —_ v K874 4HS-1 -50  -10.0 1
+ AK84 ¢ J76 3CN4 130 40 1 + K93 ¢ 8754
& K8 & 73 3CN3 110 4.0 1 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -90 3 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 48S-2 -200 -10.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 4SE-1 100 Mean: 3NE-6 600 110 1 ||#38 a T2 2SS2 110 Mean: 3NN3 400 7.0 1
v KT6532 2SE3 -140 20 1NW-3 300 70 1 v JT954 1NE-150 120 2SS3 140 1.0 2
* J6 Dif: 240 NS:2 5CW-2 200 50 1 + AQ9 Dif: 60 NS:0 2HS3 140 10 1
aT8 IMP: 6 EW:4 3NW-2 200 50 1 » 962 IMP: 2 EW:2 1SS3 140 10 3
s QT7 & AK94 5CW-1 100 20 1 (|aJ94 s 875 2852 110 00 2
v QJ + v7 4SW-1 100 20 1 ||v K863 v A7 2NN2 120 00 2
¢ T95 + K732 4SE-1 00 20 1 (|eJ5 * 8732 3CE-2 100 1.0 1
& AKQ42 S & 7653 3CW3 110 -40 5 ||a JT87 & AK53 1NE-1 50 20 1
PIVEN ,J52 2SE3 140  -40 1 ®¢VE®N 4, AKQ63 48S-1 50 5.0 1
N ~~2~~ ¢A9%4 3NE4 630 120 1 ||N ~3221 ¢ Q2
S ~~2~~ 4AQ84 S ~3221 ¢ KT64
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 3NS3 400 Mean: 3NS6 490 3.0 4 ||#10 » T9876 4HW4 -620 Mean: 3NE-3 300 9.0 1
v 93 3NS6490 380 3NS5 460 20 5 v KQT2 4SXN-6 -1700 -90  4SE-2 200 7.0 1
+ QT9862 Dif: -90 NS:1  3NS4 430 20 1 * T2 Dif: 1080 NS:-11 4HW-2 200 7.0 1
aA IMP: -3 EW:-3 3NS3 400 10 2 » Q8 IMP: 14 EW:17 4HE-2 200 7.0 1
# 96543 a2 5DN-1 50 100 1 || J532 » AQ4 4HW-1 100 50 4
v Q4 v KJT72 3NS-1 -50 100 1 || 987653 + v AJ 4HE-1 100 50 3
+ AJ3 75 *J + AK985 4HW4 620 -11.0 1
& Q96 & T8742 & 74 & AT6 4HES5 650 -11.0 1
®IVEeN LAQ7 PIVEN LK 4SXN-6  -1700 -17.0 1
N ~5~45 ¢ A865 N ~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532




X AN 33z ‘; R
5 1145 ¥ =% 3 > Wi & 5 p £ ==>Rb 5
#1: 9 BXHE(78.2) #2: 3 ILREEEE(65. 74) #3: 2 1% 4m(60.69)
8 NS: HHEE 5RFEIEEAC) 30 5 NS: gl3¥K ZZ8EIB(BAO) -8 P:| 17.84 : 2.16 Total VP: 45.11 Rank:
EW ZHER gu@ig(sﬁo) 8 EW: fB{E3E ESH(FC) -3 IMP:| 36 6 8
S
#1 .J75 3NE4 430 Mean: 2HE3 140 40 2 ||# 2 » Q832 4SS4 -620 Mean: 4SS4 620 0.0 12
v 876 1HE3 140 -270 1NE2 120 40 1 v 98 4SS4 -620 610  4SN4 620 0.0 1
+ Q85 Dif: 290 NS:4 1HE3 140 40 1 + KQ9 Dif: 0 NS:0 4HXW-3 500 -3.0 1
& QJ43 IMP: 7 EW:4 1HE2 110 40 1 & Q943 IMP: 0 EW:0
» QT93 s AK4 2NE4 180 3.0 1 KT a 764
v KT4 v QJ52 1HE4 -170 3.0 1 v QT742 I v KJ53
+ AT6 ¢ J973 3NW3 400 -40 2 ||e 876 * T542
& K9 & T5 3NE4 430 -4.0 1 ||a AT7 & 52
®IVEON 4,862 3NE3 -400 -40 4 PIVEN , AJS
N ~~~~~ 9A93 N 4~~32 ¢A6
S ~~~~~ ¢Ka2 S 4~~32 ¢AJ3
E ~4443 aA872 E ~~~~~ &KJ86
W ~4443 W ~~~~~
#3 » Q8743 5DE-2 -200 Mean: 3NW-4 400 80 3 ||#4 » KT65 4HW-1 100 Mean: 4HE-2 200 50 1
v A864 6DE-2-200 80  2NW-3 300 6.0 1 v J83 4SE-1-100 0 4SE-1 100 30 1
¢6 Dif: 0 NS:3 6DE-2 200 3.0 1 T Dif: 0 NS:3 4HW-1 100 30 1
» 865 IMP: 0 EW:-3 5DXE-1 200 3.0 1 » KQ852 IMP: 0 EW:-3 4HE-1 100 30 9
& AT52 aJ 5DE-2 200 3.0 1 ||s AJ94 s Q2 4HE4 620 -120 2
v KQ3 v T52 5DE-1 100 1.0 2 ||v AQ75 + v K9642
* A2 + QJT8543 3DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE3 110 50 1 ||a6 & AJ3
®IVON LK 2DW4 130 <50 1 PEVEN ,873
N ~~~1~ ¢J97 3SN-4 200 70 1||N 3 ~~~~ T
S ~~~21 ¢+K997 5DE5 600 -12.0 1 ||S 3 ~ ~ ~ ~ ¢ AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 4SS-2 200 Mean: 3NS5 660 9.0 1 |[|#6 » A87 4SS5 -450 Mean: 4SN7 510 30 1
v 82 3NS3 -600 270 5CN6 620 8.0 1 v J2 4SN5 -450 400 4SS5 450 2.0 2
¢ 53 Dif: 800 NS:8 3NS4 630 8.0 1 + AQJT6 Dif: 0 NS:2 4SN5 450 2.0 5
» AQJ96542 IMP: 13 EW:10 3NS3 600 80 3 » KJ2 IMP: 0 EW:-2 4SS4 420 1.0 4
» Q94 # 7632 3HE-4 200 -20 1 ||a 532 s Q 4SN4 420 1.0 1
v J753 v AT94 3HE-3 150 3.0 1 ||e AQT —_ v K874 4HS-1 -50  -10.0 1
+ AK84 ¢ J76 3CN4 130 40 1 + K93 ¢ 8754
& K8 & 73 3CN3 110 4.0 1 ||as 9543 & QT86
PIVEN ,AJT8S 5CN-1 100 -90 3 POIVEN 4, KJIT964
N 42 ~24 ¢KQ6 48S-2 -200 -10.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 3CW3 110 Mean: 3NE-6 600 110 1 ||#38 a T2 3NN3 -400 Mean: 3NN3 400 7.0 1
v KT6532 5CW-1-100 20 1NW-3 300 70 1 v JT954 1SS3 -140 120  2SS3 140 1.0 2
* J6 Dif: 210 NS:2 5CW-2 200 50 1 + AQ9 Dif: -260 NS:1  2HS3 140 10 1
aT8 IMP: 5 EW:4 3NW-2 200 50 1 » 962 IMP: -6 EW:-7 1SS3 140 10 3
s QT7 & AK94 5CW-1 100 20 1 (|aJ94 s 875 2852 110 00 2
v QJ + v7 4SW-1 100 20 1 ||v K863 v A7 2NN2 120 00 2
¢ T95 + K732 4SE-1 00 20 1 (|eJ5 * 8732 3CE-2 100 1.0 1
& AKQ42 S & 7653 3CW3 110 -40 5 ||a JT87 & AK53 1NE-1 50 20 1
PIVEN ,J52 2SE3 140  -40 1 ®¢VE®N 4, AKQ63 48S-1 50 5.0 1
N ~~2~~ ¢A9%4 3NE4 630 120 1 ||N ~3221 ¢ Q2
S ~~2~~ 4AQ84 S ~3221 ¢ KT64
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 3NS-150 Mean: 3NS6 490 3.0 4 ||#10 » T9876 4HW-1 -100 Mean: 3NE-3 300 9.0 1
v 93 3NS5 -460 380 3NS5 460 20 5 v KQT2 4HW-1 100 -90  4SE-2 200 7.0 1
« QT9862 Dif: 510 NS:2 3NS4 430 20 1 * T2 Dif: 0 NS:5 4HW-2 200 7.0 1
aA IMP: 11 EW:10 3NS3 400 10 2 » Q8 IMP: 0 EW:-5 4HE-2 200 7.0 1
# 96543 a2 5DN-1 50 100 1 || J532 » AQ4 4HW-1 100 50 4
v Q4 v KJT72 3NS-1 50 100 1 |]|e 987653 + v AJ 4HE-1 100 50 3
+ AJ3 75 *J + AK985 4HW4 620 -11.0 1
& Q96 & T8742 & 74 & AT6 4HES5 650 -11.0 1
®IVEeN LAQ7 PIVEN LK 4SXN-6  -1700 -17.0 1
N ~5~45 ¢ A865 N ~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 & KJ9532
W ~~~~~ W~~532




X AN 33z ‘; R
5 1145 ¥ =% 3 > Wi & 5 p £ ==>Rb 5
#1: 9 BXHE(78.2) #2: 3 ILREEEE(65. 74) #3: 2 1% 4m(60.69)
9 NS: F=FH 2 BEIrEEGH0) 38 1 1 NS: SFEUIR & 3C#E(BAC) - 11 P:| 19.33 : 0.67 Total VP: 78.20 Rank:
EW ISV 7}7[:%?([%%@ 13 EW: 2R3 BEZ(O) -3 IMP:| 47 6 1
S
#1 Py J75 1HE2 -110 Mean: 2HE3 140 40 2 ||# 2 » Q832 4SS4 620 Mean: 4SS4 620 0.0 12
v 876 3NE3 -400 -270 1NE2 120 40 1 v 98 4HXW-3 500 610  4SN4 620 0.0 1
+ Q85 Dif: 290 NS:4 1HE3 140 40 1 + KQ9 Dif: 120 NS:0 4HXW-3 500 -3.0 1
& QJ43 IMP: 7 EW:4 1HE2 110 40 1 & Q943 IMP: 3 EW:3
» QT93 s AK4 2NE4 180 3.0 1 KT a 764
v KT4 v QJ52 1HE4 -170 3.0 1 v QT742 I v KJ53
¢ AT6 ¢ J973 3NW3 -400 -40 2 ||e 876 ¢ T542
& K9 &T5 3NE4 430  -40 1 ||& AT7 & 52
®IVEON 4,862 3NE3 -400 -40 4 PIVEN , AJS
N ~~~~~ 9A93 N 4~~32 v A6
S ~~~~~ ¢K42 S 4~~32 ¢AJ
E ~4443 aA872 E ~~~~~ &KJB6
W ~4443 W ~~~~~
#3 » Q8743 3NW-4 400 Mean: 3NW-4 400 80 3 ||#4 » KT65 4HE-1100 Mean: 4HE-2 200 50 1
v A864 3DE3 -110 80 2NW-3 300 6.0 1 v J83 4HE-1100 o© 4SE-1 100 30 1
¢6 Dif: 510 NS:8 6DE-2 200 3.0 1 T Dif: 0 NS:3 4HW-1 100 30 1
» 865 IMP: 11 EW:5 5DXE-1 200 3.0 1 » KQ852 IMP: 0 EW:-3 4HE-1 100 30 9
& AT52 aJ 5DE-2 200 3.0 1 ||s AJ94 s Q2 4HE4 620 120 2
v KQ3 v T52 5DE-1 100 1.0 2 ||v AQ75 + v K9642
* A2 + QJT8543 3DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE3 110 50 1 ||a6 & AJ3
®IVON LK 2DW4 130 <50 1 PEVEN ,873
N ~~~1~ ¢J97 3SN-4 200 70 1||N 3 ~~~~ T
S ~~~21 ¢+K997 5DE5 600 -12.0 1 ||S 3 ~ ~ ~ ~ ¢ AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 3NS3 600 Mean: 3NS5 660 9.0 1 |[|#6 » A87 4SS4 420 Mean: 4SN7 510 30 1
v 82 3CN3 110 270 5CN6 620 8.0 1 v J2 4SN7 510 400 4SS5 450 2.0 2
¢ 53 Dif: 490 NS:8 3NS4 630 8.0 1 + AQJT6 Dif: -90 NS:1  4SN5 450 2.0 5
» AQJ96542 IMP: 10 EW:4 3NS3 600 80 3 » KJ2 IMP: -3 EW:-3 4SS4 420 1.0 4
» Q94 # 7632 3HE-4 200 -20 1 ||a 532 s Q 4SN4 420 1.0 1
v J753 v AT94 3HE-3 150 3.0 1 ||e AQT —_ v K874 4HS-1 -50  -10.0 1
+ AK84 ¢ J76 3CN4 130 40 1 + K93 ¢ 8754
& K8 & 73 3CN3 110 4.0 1 ||as 9543 & QT86
PIVEN ,AJT8S 5CN-1 100 -90 3 POIVEN 4, KJIT964
N 42 ~24 ¢KQ6 48S-2 -200 -10.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W~~~~~
#7 # 863 5CW-2 200 Mean: 3NE-6 600 110 1 ||#38 a T2 2HS3 140 Mean: 3NN3 400 7.0 1
v KT6532 3NE4 -630 20 1NW-3 300 70 1 v JT954 2SS3140 120 2SS3 140 1.0 2
* J6 Dif: 830 NS:5 5CW-2 200 50 1 + AQ9 Dif: 0 NS:1 2HS3 140 10 1
aT8 IMP: 13 EW:12 3NW-2 200 50 1 » 962 IMP: 0 EW:-1 1SS3 140 10 3
s QT7 & AK94 5CW-1 100 20 1 (|aJ94 s 875 2852 110 00 2
v QJ + v7 4SW-1 100 20 1 ||v K863 v A7 2NN2 120 00 2
¢ T95 + K732 4SE-1 00 20 1 (|eJ5 * 8732 3CE-2 100 1.0 1
& AKQ42 S & 7653 3CW3 110 -40 5 ||a JT87 & AK53 1NE-1 5 20 1
PIVEN ,J52 2SE3 140  -40 1 ®¢VE®N 4, AKQ63 48S-1 50 5.0 1
N ~~2~~ ¢A9%4 3NE4 630 120 1 ||N ~3221 ¢ Q2
S ~~2~~ 4AQ84 S ~3221 ¢ KT64
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 3NS6 490 Mean: 3NS6 490 3.0 4 ||#10 » T9876 4HW-1 100 Mean: 3NE-3 300 9.0 1
v 93 3NS3400 380 3NS5 460 20 5 v KQT2 4SE-2200 -90  4SE-2 200 7.0 1
« QT9862 Dif: 90 NS:3  3NS4 430 20 1 * T2 Dif: 100 NS:5 4HW-2 200 7.0 1
aA IMP: 3 EW:-1 3NS3 400 10 2 » Q8 IMP: -3 EW:-7 4HE-2 200 7.0 1
# 96543 a2 5DN-1 50 100 1 || J532 » AQ4 4HW-1 100 50 4
v Q4 v KJT72 3NS-1 -50 100 1 || 987653 + v AJ 4HE-1 100 50 3
+ AJ3 75 *J + AK985 4HW4 620 -11.0 1
& Q96 & T8742 & 74 & AT6 4HES5 650 -11.0 1
®IVEeN LAQ7 PIVEN LK 4SXN-6  -1700 -17.0 1
N ~5~45 ¢ A865 N ~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 & KJ9532
W ~~~~~ W~~532




X AN 33z ‘; R
5 1145 ¥ =% 3 > Wi & 5 p £ ==>Rb 5
#1: 9 BXHE(78.2) #2: 3 ILREEEE(65. 74) #3: 2 1% 4m(60.69)
1 O NS: BEGAH BB EEH0) 25 1 3 NS: # X8 #F8%(BAC) -5 P:| 15.75 : 4.25 | Total VP: 45.81 Rank:
EW: R854 o[ ZE(BAC) 5 EW: FiEE Tk (FH0) -2 IMP:| 34 15 7
- S
#1 & J75 3NW3 -400 Mean: 2HE3 140 40 2 ||# 2 » Q832 4SS4 620 Mean: 4SS4 620 0.0 12
v 876 2NE4 180 -270 1NE2 120 40 1 v 98 4SS4 620 610  4SN4 620 0.0 1
+ Q85 Dif: -220 NS:-4 1HE3 140 40 1 + KQ9 Dif: 0 NS:0 4HXW-3 500 -3.0 1
& QJ43 IMP: -6 EW:-3 1HE2 110 40 1 & Q943 IMP: 0 EW:0
» QT93 s AK4 2NE4 180 3.0 1 KT a 764
v KT4 v QJ52 1HE4 -170 3.0 1 v QT742 I v KJ53
+ AT6 ¢ J973 3NW3 400 -40 2 ||e 876 * T542
& K9 & T5 3NE4 430 -4.0 1 ||a AT7 & 52
®IVEON 4,862 3NE3 -400 -40 4 PIVEN , AJS
N ~~~~~ 9A93 N 4~~32 ¢A6
S ~~~~~ ¢Ka2 S 4~~32 ¢AJ3
E ~4443 »A872 E ~~~~~ &KJB6
W ~4443 W ~~~~~
#3 » Q8743 5DE-1100 Mean: 3NW-4 400 80 3 ||#4 » KT65 4HE-1 100 Mean: 4HE-2 200 50 1
v A864 3NW-4 400 80 2NW-3 300 6.0 1 v J83 4HE-1100 o© 4SE-1 100 30 1
¢6 Dif: -300 NS:1  6DE-2 200 3.0 1 T Dif: 0 NS:3 4HW-1 100 30 1
» 865 IMP: -7 EW:-8 5DXE-1 200 3.0 1 » KQ852 IMP: 0 EW:-3 4HE-1 100 30 9
& AT52 aJ 5DE-2 200 3.0 1 ||s AJ94 s Q2 4HE4 620 -120 2
v KQ3 v T52 5DE-1 100 1.0 2 ||v AQ75 + v K9642
* A2 + QJT8543 3DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE3 110 50 1 ||a6 & AJ3
®IVON LK 2DW4 130 <50 1 PEVEN ,873
N ~~~1~ ¢J97 3SN-4 200 70 1||N 3 ~~~~ T
S ~~~21 K97 5DE5 600 -12.0 1 ||S 3 ~ ~ ~ ~ ¢ AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 3NS3 600 Mean: 3NS5 660 9.0 1 |[|#6 » A87 4SN5 450 Mean: 4SN7 510 30 1
v 82 5CN-1-100 270 5CN6 620 80 1 v J2 4SS5450 400 4SS5 450 2.0 2
¢ 53 Dif: 700 NS:8 3NS4 630 8.0 1 + AQJT6 Dif: 0 NS:2 4SN5 450 2.0 5
» AQJ96542 IMP: 12 EW:9 3NS3 600 80 3 » KJ2 IMP: 0 EW:-2 4SS4 420 1.0 4
» Q94 # 7632 3HE-4 200 -20 1 ||a 532 s Q 4SN4 420 1.0 1
v J753 v AT94 3HE-3 150 3.0 1 ||e AQT —_ v K874 4HS-1 -50  -10.0 1
+ AK84 ¢ J76 3CN4 130 40 1 + K93 ¢ 8754
& K8 & 73 3CN3 110 4.0 1 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -90 3 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 48S-2 -200 -10.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 1NW-3 300 Mean: 3NE-6 600 110 1 ||#38 a T2 3CE-2100 Mean: 3NN3 400 7.0 1
v KT6532 3CW3-110 20 1NW-3 300 70 1 v JT954 1SS3 140 120 2SS3 140 1.0 2
* J6 Dif: 410 NS:7 5CW-2 200 50 1 + AQ9 Dif: -40 NS:-1 2HS3 140 10 1
aT8 IMP: 9 EW:4 3NW-2 200 50 1 » 962 IMP: -1 EW:-1 1SS3 140 10 3
s QT7 & AK94 5CW-1 100 20 1 (|aJ94 s 875 2852 110 00 2
v QJ + v7 4SW-1 100 20 1 ||v K863 v A7 2NN2 120 00 2
¢ T95 + K732 4SE-1 00 20 1 (|eJ5 * 8732 3CE-2 100 1.0 1
& AKQ42 S & 7653 3CW3 110 -40 5 ||a JT87 & AK53 1NE-1 50 20 1
PIVEN ,J52 2SE3 140  -40 1 ®¢VE®N 4, AKQ63 48S-1 50 5.0 1
N ~~2~~ ¢A9%4 3NE4 630 120 1 ||N ~3221 ¢ Q2
S ~~2~~ 4AQ84 S ~3221 ¢ KT64
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 3NS4 430 Mean: 3NS6 490 3.0 4 ||#10 » T9876 4HE-2 200 Mean: 3NE-3 300 9.0 1
v 93 3NS5460 380 3NS5 460 20 5 v KQT2 4HE5 -650 -90  4SE-2 200 7.0 1
+ QT9862 Dif: -30 NS:2 3NS4 430 20 1 * T2 Dif: 850 NS:7 4HW-2 200 7.0 1
aA IMP: -1 EW:-2 3NS3 400 10 2 » Q8 IMP: 13 EW:11 4HE-2 200 7.0 1
# 96543 a2 5DN-1 50 100 1 || J532 » AQ4 4HW-1 100 50 4
v Q4 v KJT72 3NS-1 -50 100 1 || 987653 + v AJ 4HE-1 100 50 3
+ AJ3 75 *J + AK985 4HW4 620 -11.0 1
& Q96 & T8742 & 74 & AT6 4HES5 650 -11.0 1
®IVEeN LAQ7 PIVEN LK 4SXN-6  -1700 -17.0 1
N ~5~45 ¢ A865 N ~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532




X AN 33z ‘; R
5 114# £< 3 > FpERE £ ==>Rb 5
i
#1: 9 BHE(78.2) #2: 3 ILRERI(65. 74) #3 2 S5 (60.69)
1 1 NS: FRBEE & SCEERC) -13 9 NS: EHE WRiIiF(BAO) 38| 0.67 19.33| Total VP: 49.18 Rank:
EW EBRE F;ﬁj(?;ﬁO) 38 EW: 28X 38 MigF(BAC) 13 IMP:| 6 : 47 6
S
#1 Py J75 1HE2 110 Mean: 2HE3 140 40 2 ||# 2 » Q832 4SS4 -620 Mean: 4SS4 620 0.0 12
v 876 3NE3 400 -270 1NE2 120 40 1 v 98 4HXW-3 -500 610  4SN4 620 0.0 1
+ Q85 Dif: -290 NS:-4 1HE3 140 40 1 + KQ9 Dif: -120 NS:-3 4HXW-3 500 -3.0 1
& QJ43 IMP: -7 EW:-4 1HE2 110 40 1 & Q943 IMP: -3 EW:0
» QT93 s AK4 2NE4 180 3.0 1 KT a 764
v KT4 v QJ52 1HE4 -170 3.0 1 v QT742 I v KJ53
+ AT6 ¢ J973 3NW3 400 -40 2 ||e 876 * T542
& K9 & T5 3NE4 430 -4.0 1 ||a AT7 & 52
®IVEON 4,862 3NE3 -400 -40 4 PIVEN , AJS
N ~~~~~ 9A93 N 4~~32 ¢A6
S ~~~~~ ¢Ka2 S 4~~32 ¢AJ3
E ~4443 »A872 E ~~~~~ &KJB6
W ~4443 W ~~~~~
#3 » Q8743 3NW-4 -400 Mean: 3NW-4 400 80 3 ||#4 » KT65 4HE-1 -100 Mean: 4HE-2 200 50 1
v A864 3DE3 110 80 2NW-3 300 6.0 1 v J83 4HE-1-100 o0 4SE-1 100 30 1
¢6 Dif: -510 NS:-5 6DE-2 200 3.0 1 T Dif: 0 NS:3 4HW-1 100 30 1
» 865 IMP: -11 EW:-8 5DXE-1 200 3.0 1 » KQ852 IMP: 0 EW:-3 4HE-1 100 30 9
& AT52 aJ 5DE-2 200 3.0 1 ||s AJ94 s Q2 4HE4 620 -120 2
v KQ3 v T52 5DE-1 100 1.0 2 ||v AQ75 + v K9642
* A2 + QJT8543 3DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE3 110 50 1 ||a6 & AJ3
®IVON LK 2DW4 130 <50 1 PEVEN ,873
N ~~~1~ ¢J97 3SN-4 200 70 1||N 3 ~~~~ T
S ~~~21 ¢+K997 5DE5 600 -12.0 1 ||S 3 ~ ~ ~ ~ ¢ AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 3NS3 -600 Mean: 3NS5 660 9.0 1 |[|#6 » A87 4SS4 -420 Mean: 4SN7 510 30 1
v 82 3CN3 -110 270 5CN6 620 8.0 1 v J2 4SN7 -510 400 4SS5 450 2.0 2
¢ 53 Dif: -490 NS:-4 3NS4 630 8.0 1 + AQJT6 Dif: 90 NS:3  4SN5 450 2.0 5
» AQJ96542 IMP: -10 EW:-8 3NS3 600 80 3 » KJ2 IMP: 3 EW:-1 4SS4 420 1.0 4
» Q94 # 7632 3HE-4 200 -20 1 ||a 532 s Q 4SN4 420 1.0 1
v J753 v AT94 3HE-3 150 3.0 1 ||e AQT —_ v K874 4HS-1 -50  -10.0 1
+ AK84 ¢ J76 3CN4 130 40 1 + K93 ¢ 8754
& K8 & 73 3CN3 110 4.0 1 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -90 3 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 48S-2 -200 -10.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 5CW-2 -200 Mean: 3NE-6 600 110 1 ||#38 a T2 2HS3 -140 Mean: 3NN3 400 7.0 1
v KT6532 3NE4 630 20 1NW-3 300 70 1 v JT954 2SS3-140 120 2SS3 140 1.0 2
* J6 Dif: -830 NS:-12 5CW-2 200 50 1 + AQ9 Dif: 0 NS:1 2HS3 140 10 1
aT8 IMP: -13 EW:-5 3NW-2 200 50 1 » 962 IMP: 0 EW:-1 1SS3 140 10 3
s QT7 & AK94 5CW-1 100 20 1 (|aJ94 s 875 2852 110 00 2
v QJ + v7 4SW-1 100 20 1 ||v K863 v A7 2NN2 120 00 2
¢ T95 + K732 4SE-1 00 20 1 (|eJ5 * 8732 3CE-2 100 1.0 1
& AKQ42 S & 7653 3CW3 110 -40 5 ||a JT87 & AK53 1NE-1 50 20 1
PIVEN ,J52 2SE3 140  -40 1 ®¢VE®N 4, AKQ63 48S-1 50 5.0 1
N ~~2~~ ¢A9%4 3NE4 630 120 1 ||N ~3221 ¢ Q2
S ~~2~~ 4AQ84 S ~3221 ¢ KT64
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 3NS6 -490 Mean: 3NS6 490 3.0 4 ||#10 » T9876 4HW-1 -100 Mean: 3NE-3 300 9.0 1
v 93 3NS3 -400 380 3NS5 460 20 5 v KQT2 4SE-2 -200 -90  4SE-2 200 7.0 1
« QT9862 Dif: -90 NS:1  3NS4 430 20 1 * T2 Dif: 100 NS:7 4HW-2 200 7.0 1
aA IMP: -3 EW:-3 3NS3 400 10 2 » Q8 IMP: 3 EW:-5 4HE-2 200 7.0 1
# 96543 a2 5DN-1 50 100 1 || J532 » AQ4 4HW-1 100 50 4
v Q4 v KJT72 3NS-1 -50 100 1 || 987653 + v AJ 4HE-1 100 50 3
+ AJ3 75 *J + AK985 4HW4 620 -11.0 1
& Q96 & T8742 & 74 & AT6 4HES5 650 -11.0 1
®IVEeN LAQ7 PIVEN LK 4SXN-6  -1700 -17.0 1
N ~5~45 ¢ A865 N ~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532




X AN 33z ‘; R
5 1145 ¥ =% 3 > Wi & 5 p £ ==>Rb 5
#1: 9 BXHE(78.2) #2: 3 ILREEEE(65. 74) #3: 2 1% 4m(60.69)
1 2 NS: BEEE BRAESFERC) 43 7 NS: ZIff % Radihike RYRN P:| 2.00 : 18.00| Total VP: 41.98 Rank:
EW R f& %Ej@(ﬁﬁo) 12 EW: Alan SIA Diana SUN( IMP:| 13 44 10
S
#1 Py J75 3NE3 400 Mean: 2HE3 140 40 2 ||# 2 » Q832 4SS4 -620 Mean: 4SS4 620 0.0 12
v 876 3NE3 400 -270 1NE2 120 40 1 v 98 4SS4 -620 610  4SN4 620 0.0 1
+ Q85 Dif: 0 NS:-4 1HE3 140 40 1 + KQ9 Dif: 0 NS:0 4HXW-3 500 -3.0 1
& QJ43 IMP: 0 EW:4 1HE2 110 40 1 & Q943 IMP: 0 EW:0
» QT93 s AK4 2NE4 180 3.0 1 KT a 764
v KT4 v QJ52 1HE4 -170 3.0 1 v QT742 I v KJ53
+ AT6 ¢ J973 3NW3 400 -40 2 ||e 876 * T542
& K96 & T5 3NE4 430  -40 1 ||& AT7 & 52
®IVEON 4,862 3NE3 -400 -40 4 PIVEN , AJS
N ~~~~~ 9A93 N 4~~32 ¢A6
S ~~~~~ ¢Ka2 S 4~~32 ¢AJ3
E ~4443 »A872 E ~~~~~ &KJB6
W ~4443 W ~~~~~
#3 » Q8743 5DE5 600 Mean: 3NW-4 400 80 3 ||#4 » KT65 4HE-1 -100 Mean: 4HE-2 200 50 1
v A864 3DE4 130 80 2NW-3 300 6.0 1 v J83 4HE4620 o0 4SE-1 100 30 1
¢6 Dif: 470 NS:-5 6DE-2 200 3.0 1 T Dif: -720 NS:-12 4HW-1 100 30 1
» 865 IMP: 10 EW:12 5DXE-1 200 3.0 1 » KQ852 IMP: -12 EW:-3 4HE-1 00 30 9
& AT52 aJ 5DE-2 200 3.0 1 ||s AJ94 s Q2 4HE4 620 -120 2
v KQ3 v T52 5DE-1 100 1.0 2 ||v AQ75 + v K9642
* A2 + QJT8543 3DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE3 110 50 1 ||a6 & AJ3
®IVON LK 2DW4 130 <50 1 PEVEN ,873
N ~~~1~ ¢J97 3SN-4 200 70 1||N 3 ~~~~ T
S ~~~21 K97 5DE5 600 -12.0 1 ||S 3 ~ ~ ~ ~ ¢ AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 5CN6 -620 Mean: 3NS5 660 9.0 1 |[|#6 » A87 4SS4 -420 Mean: 4SN7 510 30 1
v 82 3NS4 -630 270 5CN6 620 80 1 v J2 4HS-150 400 4SS5 450 2.0 2
¢ 53 Dif: 10 NS:8 3NS4 630 8.0 1 + AQJT6 Dif: -470 NS:-10 4SN5 450 20 5
» AQJ96542 IMP: 0 EW:-8 3NS3 600 80 3 » KJ2 IMP: -10 EW:-1 4SS4 420 1.0 4
» Q94 # 7632 3HE-4 200 -20 1 ||a 532 s Q 4SN4 420 1.0 1
v J753 v AT94 3HE-3 150 3.0 1 ||e AQT —_ v K874 4HS-1 -50  -10.0 1
+ AK84 ¢ J76 3CN4 130 40 1 + K93 ¢ 8754
& K8 & 73 3CN3 110 4.0 1 ||as 9543 & QT86
PIVEN AAIT8S5 5CN-1 100 -90 3 ®¢VEN 4, KJT964
N 42 ~24 ¢KQ6 48S-2 -200 -10.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 4SE-1-100 Mean: 3NE-6 600 110 1 ||#38 a T2 25SS2 -110 Mean: 3NN3 400 7.0 1
v KT6532 2SE3140 20 1NW-3 300 70 1 v JT954 1NE-1-50 120 2SS3 140 1.0 2
* J6 Dif: -240 NS:-4 5CW-2 200 50 1 + AQ9 Dif: -60 NS:-2 2HS3 140 10 1
aT8 IMP: -6 EW:-2 3NW-2 200 50 1 » 962 IMP: -2 EW:0 1SS3 140 10 3
s QT7 & AK94 5CW-1 100 20 1 (|aJ94 s 875 2852 110 00 2
v QJ + v7 4SW-1 100 20 1 ||v K863 v A7 2NN2 120 00 2
¢ T95 + K732 4SE-1 00 20 1 (|eJ5 * 8732 3CE-2 100 1.0 1
& AKQ42 S & 7653 3CW3 110 -40 5 ||a JT87 & AK53 1NE-1 50 20 1
PIVEN ,J52 2SE3 140  -40 1 ®¢VE®N 4, AKQ63 48S-1 50 5.0 1
N ~~2~~ ¢A9%4 3NE4 630 120 1 ||N ~3221 ¢ Q2
S ~~2~~ 4AQ84 S ~3221 ¢ KT64
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 3NS3 -400 Mean: 3NS6 490 3.0 4 ||#10 » T9876 4HW4 620 Mean: 3NE-3 300 9.0 1
v 93 3NS6 -490 380 3NS5 460 20 5 v KQT2 4SXN-6 1700 -90  4SE-2 200 7.0 1
+ QT9862 Dif: 90 NS:3  3NS4 430 20 1 * T2 Dif: -1080 NS:-17 4HW-2 200 7.0 1
aA IMP: 3 EW:-1 3NS3 400 10 2 » Q8 IMP: -14 EW:11 4HE-2 200 7.0 1
# 96543 a2 5DN-1 50 100 1 || J532 » AQ4 4HW-1 100 50 4
v Q4 v KJT72 3NS-1 50 100 1 |]|e 987653 + v AJ 4HE-1 100 50 3
+ AJ3 75 *J + AK985 4HW4 620 -11.0 1
& Q96 & T8742 & 74 & AT6 4HES5 650 -11.0 1
®IVEeN LAQ7 PIVEN LK 4SXN-6  -1700 -17.0 1
N ~5~45 ¢ A865 N ~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532




X AN 33z ‘; R
5 1145 ¥ =% 3 > Wi & 5 p £ ==>Rb 5
#1: 9 BXHE(78.2) #2: 3 ILREEEE(65. 74) #3: 2 1% 4m(60.69)
1 3 NS: $hZE IR BR=FEERC) -5 1 0 NS: BiLH R2E 5 (F0) 25 P:| 4.25 : 15.75| Total VP: 40.17 Rank:
EW: #E8 FxeEH0) -25 EW: R0 [HE(BAC) 5 IMP:| 15 34 1
- S
#1 & J75 3NW3 400 Mean: 2HE3 140 40 2 ||# 2 » Q832 4SS4 -620 Mean: 4SS4 620 0.0 12
v 876 2NE4 180 -270 1NE2 120 40 1 v 98 4SS4 -620 610  4SN4 620 0.0 1
+ Q85 Dif: 220 NS:3 1HE3 140 40 1 + KQ9 Dif: 0 NS:0 4HXW-3 500 -3.0 1
& QJ43 IMP: 6 EW:4 1HE2 110 40 1 & Q943 IMP: 0 EW:0
» QT93 s AK4 2NE4 180 3.0 1 KT a 764
v KT4 v QJ52 1HE4 -170 3.0 1 v QT742 I v KJ53
¢ AT6 ¢ J973 3NW3 -400 -40 2 ||e 876 ¢ T542
& K9 &T5 3NE4 430  -40 1 ||& AT7 & 52
®IVEON 4,862 3NE3 -400 -40 4 PIVEN , AJS
N ~~~~~ 9A93 N 4~~32 v A6
S ~~~~~ ¢K42 S 4~~32 ¢AJ
E ~4443 aA872 E ~~~~~ &KJB6
W ~4443 W ~~~~~
#3 » Q8743 5DE-1-100 Mean: 3NW-4 400 80 3 ||#4 » KT65 4HE-1 -100 Mean: 4HE-2 200 50 1
v A864 3NW-4 -400 80  2NW-3 300 6.0 1 v J83 4HE-1-100 o0 4SE-1 100 30 1
¢6 Dif: 300 NS:8 6DE-2 200 3.0 1 T Dif: 0 NS:3 4HW-1 100 30 1
» 865 IMP: 7 EW:-1 5DXE-1 200 3.0 1 » KQ852 IMP: 0 EW:-3 4HE-1 100 30 9
& AT52 aJ 5DE-2 200 3.0 1 ||s AJ94 s Q2 4HE4 620 -120 2
v KQ3 v T52 5DE-1 100 1.0 2 ||v AQ75 + v K9642
* A2 + QJT8543 3DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE3 110 50 1 ||a6 & AJ3
®IVON LK 2DW4 130 <50 1 PEVEN ,873
N ~~~1~ ¢J97 3SN-4 200 70 1||N 3 ~~~~ T
S ~~~21 ¢+K997 5DE5 600 -12.0 1 ||S 3 ~ ~ ~ ~ ¢ AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 3NS3 -600 Mean: 3NS5 660 9.0 1 |[|#6 » A87 4SN5 -450 Mean: 4SN7 510 30 1
v 82 5CN-1100 270 5CN6 620 8.0 1 v J2 4SS5 -450 400 4SS5 450 2.0 2
¢ 53 Dif: -700 NS:-9 3NS4 630 8.0 1 + AQJT6 Dif: 0 NS:2 4SN5 450 2.0 5
» AQJ96542 IMP: -12 EW:-8 3NS3 600 80 3 » KJ2 IMP: 0 EW:-2 4SS4 420 1.0 4
» Q94 # 7632 3HE-4 200 -20 1 ||a 532 s Q 4SN4 420 1.0 1
v J753 v AT94 3HE-3 150 3.0 1 ||e AQT —_ v K874 4HS-1 -50  -10.0 1
+ AK84 ¢ J76 3CN4 130 40 1 + K93 ¢ 8754
& K8 & 73 3CN3 110 4.0 1 ||as 9543 & QT86
PIVEN ,AJT8S 5CN-1 100 -90 3 POIVEN 4, KJIT964
N 42 ~24 ¢KQ6 48S-2 -200 -10.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W~~~~~
#7 # 863 1NW-3 -300 Mean: 3NE-6 600 110 1 ||#38 a T2 3CE-2 -100 Mean: 3NN3 400 7.0 1
v KT6532 3CW3110 20 1NW-3 300 70 1 v JT954 1SS3 -140 120  2SS3 140 1.0 2
* J6 Dif: -410 NS:-4 5CW-2 200 50 1 + AQ9 Dif: 40 NS:1 2HS3 140 10 1
aT8 IMP: -9 EW:-7 3NW-2 200 50 1 » 962 IMP: 1 EW:1 1SS3 140 10 3
s QT7 & AK94 5CW-1 100 20 1 (|aJ94 s 875 2852 110 00 2
v QJ + v7 4SW-1 100 20 1 ||v K863 v A7 2NN2 120 00 2
¢ T95 + K732 4SE-1 00 20 1 (|eJ5 * 8732 3CE-2 100 1.0 1
& AKQ42 S & 7653 3CW3 110 -40 5 ||a JT87 & AK53 1NE-1 50 20 1
PIVEN ,J52 2SE3 140  -40 1 ®¢VE®N 4, AKQ63 48S-1 50 5.0 1
N ~~2~~ ¢A9%4 3NE4 630 120 1 ||N ~3221 ¢ Q2
S ~~2~~ 4AQ84 S ~3221 ¢ KT64
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 3NS4 -430 Mean: 3NS6 490 3.0 4 ||#10 » T9876 4HE-2 -200 Mean: 3NE-3 300 9.0 1
v 93 3NS5 -460 380 3NS5 460 20 5 v KQT2 4HE5 650 -90  4SE-2 200 7.0 1
« QT9862 Dif: 30 NS:2 3NS4 430 20 1 * T2 Dif: -850 NS:-11 4HW-2 200 7.0 1
aA IMP: 1 EW:-2 3NS3 400 10 2 » Q8 IMP: -13 EW:-7 4HE-2 200 7.0 1
# 96543 a2 5DN-1 50 100 1 || J532 » AQ4 4HW-1 100 50 4
v Q4 v KJT72 3NS-1 50 100 1 |]|e 987653 + v AJ 4HE-1 100 50 3
+ AJ3 75 *J + AK985 4HW4 620 -11.0 1
& Q96 & T8742 & 74 & AT6 4HES5 650 -11.0 1
®eveN LAQ7 PIVEeN LK 4SXN-6 1700 -17.0 1
N ~5~45 ¢ A865 N~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 aKJo532
W ~~~~~ W~~532




X AN 33z ‘; R
5 1145 ¥ =% 3 > Wi & 5 p £ ==>Rb 5
#1: 9 BXHE(78.2) #2: 3 ILREEEE(65. 74) #3: 2 1% 4m(60.69)
1 4 NS: SE21E FFZEREAC) -8 6 NS: B8 S4#=F(F0) 17 P:| 3.41 : 16.59| Total VP: 44.39 Rank:
EW sk J%mﬂ‘(ﬁﬁ@ -17 EW: il FRIERZ(FAC) 8 IMP:| 11 34 9
S
#1 Py J75 3NE3 400 Mean: 2HE3 140 40 2 ||# 2 » Q832 4SS4 -620 Mean: 4SS4 620 0.0 12
v 876 2HE3 140 -270 1NE2 120 40 1 v 98 4SS4 -620 610  4SN4 620 0.0 1
+ Q85 Dif: 260 NS:4 1HE3 140 40 1 + KQ9 Dif: 0 NS:0 4HXW-3 500 -3.0 1
& QJ43 IMP: 6 EW:4 1HE2 110 40 1 & Q943 IMP: 0 EW:0
» QT93 s AK4 2NE4 180 3.0 1 KT a 764
v KT4 v QJ52 1HE4 -170 3.0 1 v QT742 I v KJ53
+ AT6 ¢ J973 3NW3 400 -40 2 ||e 876 * T542
& K96 & T5 3NE4 430 -4.0 1 ||a AT7 & 52
®IVEON 4,862 3NE3 -400 -40 4 PIVEN , AJS
N ~~~~~ 9A93 N 4~~32 ¢A6
S ~~~~~ ¢Ka2 S 4~~32 ¢AJ3
E ~4443 aA872 E ~~~~~ &KJ86
W ~4443 W ~~~~~
#3 » Q8743 5DE-1-100 Mean: 3NW-4 400 80 3 ||#4 » KT65 4HE-1 -100 Mean: 4HE-2 200 50 1
v A864 2NW-3 -300 80  2NW-3 300 6.0 1 v J83 4HE-1-100 o0 4SE-1 100 30 1
¢6 Dif: 200 NS:6 6DE-2 200 3.0 1 T Dif: 0 NS:3 4HW-1 100 30 1
» 865 IMP: 5 EW:-1 5DXE-1 200 3.0 1 » KQ852 IMP: 0 EW:-3 4HE-1 100 30 9
& AT52 aJ 5DE-2 200 3.0 1 ||s AJ94 s Q2 4HE4 620 -120 2
v KQ3 v T52 5DE-1 100 1.0 2 ||v AQ75 + v K9642
* A2 + QJT8543 3DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE3 110 50 1 ||a6 & AJ3
®IVON LK 2DW4 130 <50 1 PEVEN ,873
N ~~~1~ ¢J97 3SN-4 200 70 1||N 3 ~~~~ T
S ~~~21 K97 5DE5 600 -12.0 1 ||S 3 ~ ~ ~ ~ ¢ AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 3CN4 -130 Mean: 3NS5 660 9.0 1 |[|#6 » A87 4SN5 -450 Mean: 4SN7 510 30 1
v 82 5CN-1100 270 5CN6 620 80 1 v J2 4SN5 -450 400 4SS5 450 2.0 2
¢ 53 Dif: -230 NS:-9 3NS4 630 8.0 1 + AQJT6 Dif: 0 NS:2 4SN5 450 2.0 5
» AQJ96542 IMP: -6 EW:4 3NS3 600 80 3 » KJ2 IMP: 0 EW:-2 4SS4 420 1.0 4
» Q94 # 7632 3HE-4 200 -20 1 ||a 532 s Q 4SN4 420 1.0 1
v J753 v AT94 3HE-3 150 3.0 1 ||e AQT —_ v K874 4HS-1 -50  -10.0 1
+ AK84 ¢ J76 3CN4 130 40 1 + K93 ¢ 8754
& K8 & 73 3CN3 110 4.0 1 ||as 9543 & QT86
PIVEN ,AJT8S 5CN-1 100 -90 3 POIVEN 4, KJIT964
N 42 ~24 ¢KQ6 48S-2 -200 -10.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 3NE-6 -600 Mean: 3NE-6 600 110 1 ||#38 a T2 2NN2 -120 Mean: 3NN3 400 7.0 1
v KT6532 3CW3110 20 1NW-3 300 70 1 v JT954 4SS-150 120 2SS3 140 1.0 2
* J6 Dif: -710 NS:-4 5CW-2 200 50 1 + AQ9 Dif: -170 NS:-5 2HS3 140 10 1
aT8 IMP: -12 EW:-11 3NW-2 200 50 1 » 962 IMP: -5 EW:0 1SS3 140 10 3
s QT7 & AK94 5CW-1 100 20 1 (|aJ94 s 875 2852 110 00 2
v QJ + v7 4SW-1 100 20 1 ||v K863 v A7 2NN2 120 00 2
¢ T95 + K732 4SE-1 00 20 1 (|eJ5 * 8732 3CE-2 100 1.0 1
& AKQ42 S & 7653 3CW3 110 -40 5 ||a JT87 & AK53 1NE-1 50 20 1
PIVEN ,J52 2SE3 140  -40 1 ®¢VE®N 4, AKQ63 48S-1 50 5.0 1
N ~~2~~ ¢A9%4 3NE4 630 120 1 ||N ~3221 ¢ Q2
S ~~2~~ 4AQ84 S ~3221 ¢ KT64
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 3NS6 -490 Mean: 3NS6 490 3.0 4 ||#10 » T9876 4HW-1 -100 Mean: 3NE-3 300 9.0 1
v 93 5DN-150 380 3NS5 460 20 5 v KQT2 4HE-1-100 -90  4SE-2 200 7.0 1
+ QT9862 Dif: -540 NS:-10 3NS4 430 20 1 * T2 Dif: 0 NS:5 4HW-2 200 7.0 1
aA IMP: -11 EW:-3 3NS3 400 10 2 » Q8 IMP: 0 EW:-5 4HE-2 200 7.0 1
# 96543 a2 5DN-1 50 100 1 || J532 » AQ4 4HW-1 100 50 4
v Q4 v KJT72 3NS-1 50 100 1 |]|e 987653 + v AJ 4HE-1 100 50 3
+ AJ3 75 *J + AK985 4HW4 620 -11.0 1
& Q96 & T8742 & 74 & AT6 4HES5 650 -11.0 1
®IVEeN LAQ7 PIVEN LK 4SXN-6  -1700 -17.0 1
N ~5~45 ¢ A865 N ~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 & KJ9532
W ~~~~~ W~~532




